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ERUZDEEOEREETHMITEMLTOETS,
B FERXR |memesmBass | RMAERCT F=E LB PN BULAR
ZREHK 28,666 57,869 1,732 1,041 5,284 5,471 29,433 2,494
19 | ERBREH 3,955 1,177 4 194 65 548 1,371 160
FE|BRIDEY 2,723 805 4 153 58 511 834 118
MMEWE | 688 684 100 789 89.2| 932 608 738
HARREH 43 18 0 16 2 20 43 35
ZREH 30,135 60,820 1,578 1,014 5,648 5,909 31,044 2,975
20 | EREREHR 4,062 759 2 176 59 586 1,477 143
FE|BRILEY 2,808 499 1 144 51 537 886 96
MMEWE | 601 657 50, 818 864/ 016 60 67.1
HARREH 44 14 0 6 0 17 37 30
ZREH 30,070 59,963 1,466 921 6,016 6,311 31,387 3,536
21 | ERREHR 4177 601 0 114 74 669 1,388 140
FE|BRILEY 2,883 376 0 84 63 605 836 104
MMEWE | 600 626 737| 851 904 602 743
HARREH 28 10 0 7 1 13 35 41
ZREHK 30,265 61,519 1,391 1020 6,264 6,221 31,905 3,920
22 | ERREN 3,907 632 4 104 102 507 1,200 186
FE|BRILEY 2,676 418 1 84 89 462 708 140
MMEWE | 685 66.1 25| 808 873 911 590 753
HARREH 22 7 1 3 5 8 31 43
ZREH 30,088 62,046 1,289 883 6,481 6,624 32,013 4,006
23 | BEFEREN 3,916 564 0 80 99 614 1,307 177
FE| BR22ER 2,818 380 0 64 86 552 806 138
MQEWE | 720] 674 800 869 899 617 780
HARRER 45 15 0 7 3 16 33 42
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